AQA GCSE Maths - Surds

Q1.

Show that 12 cos 30° — 2 tan 60° can be written in the formvk

where k is an integer.

..................................................................................................................................

(Total 3 marks)

Q2.
10

Rationalise the denominator and simplify 3v5

ANSWEL ceveeiiiiiririiieerieeerieeeereereneenes
(Total 2 marks)

Q3.
(a) Simplify fully 2

Circle your answer.
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36,7 3.8 6.2 2.f18
1)
(b) Given that p=3 g = 8 and r =6
2g
work out * the value of
L A1V TN
(2

(Total 3 marks)

Q4.
Put these in order starting with the smallest.
56 10
2.3 % 42 Z 55
You must show your working.
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LargeSt it e e
(Total 3 marks)

Q5.(a) Showclearlythat (x—y)(x+y) x2-y2

(2

(b)

Not drawn accurately
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3)
(Total 4 marks)

06./10 (3W20 + 7V5)  simplifiesto av?2
Work out the value of a

(Total 3 marks)

Q7.
(@) Hereis triangleABC
C'!

\ Mot drawn
. \ accurately

VHV \ v2cm

- "
N\
4 S g
Jv2cm
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3

(b)  Hence work out the area of triangle ABC

(3)
(Total 6 marks)

Q8.(a) Show that 75 can be written as5+/3

2

(b)  Rationalise the denominator and simplifw_ﬁ

2

(c) Work out the mean of the three numbersﬁ, ﬁ and E
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Give your answer in the form 53 where b is an integer.

(2)
(Total 5 marks)

V50 ++/32

VB2 241
(D)

Circle the value that is equivalent to

41

Q9.(a)
N2

Circle the value that is equivalent to W75+ 203

10

(b)
20

215
D

rT72
(Total 2 marks)

Q10.(a) Simplify fully v

...................................................................... 2
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(b) VB x V5 xvVE xvV3xvVZxvV1 =k 5
Work out the value of k.
F N 2153V S
3)
(Total 5 marks)
Q11.(a) Work out the value of VB x V2
ANSWEL ittt ettt e e ereereeraeeraeeraeeaneennenas
(2)
i
(b) Rationalise the denominator and simplify V.
ANSWEL ittt et eereeree it eraeeraeraeenneenneenas
(2)
(Total 4 marks)
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Q12.
Write 500 = 2445 in the form @5 where a is an integer.

(Total 2 marks)

Q13.

(a) Work out the value of V2 x 32

PN 1S L= T RN
(2)
yal
(b) Rationalise the denominator and simplify 7
F N 1S3V S
(2)

(Total 4 marks)
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Q14.
Work out J3xA12x572

Give your answer as a decimal.

(Total 3 marks)
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